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 لفصل الأولاض فرل :  رقمموذج ن   

 دقیقة   40المدة:    

	:��	�

>�l	ا��م�ي	�0رة	ا�*�ب�ن	آ��	:C12
6.	

1H	ب�ن�ا�*	ذرة	9:	ح�د	:		
		.		ا���د	ا�*��:	و	ا��<�:	•						
		.		-�د	ا���ت�ن�ت	،	ا�M*��ون�ت	،	ا�����ون�ت	•						
		.		ش<��	ا���اة	•						
2Hا�0رة	��آ�	أن	أ%� 		وت�ن�ا��	���*�	�`u�vم	.		
3H	:ه	ون�ا���	و	ت�ن�ا��	��آ�	أن	 
mp = mn = 1.67 . 10:		إذا	-�

-27
 Kgب�ن�ا�*	ذرة	��آ�	Z1أح	،			

4H	:9	ج�دة�
��:	آ�ب�ن	12	م�	ه�	-�د	ذرات	ا�*�ب�ن	ا��
		.	غ	مX	ا���ع	آ�
		

�R�9A����<�3أ�-��)correcteur�(����
���5ا��.��	
ت�ا��
?3��� �>�*: 

دة�N"�"ة�ا]���اق�•	�. 
•�%�.���5�&	�	�>2#$�. 
  .�$#2<�ا�a-�و�ا����4•


���Lا�����دة�)��ھmا�ا�;�-�- 1����
ر�ا�2
���� %�ا���اد�ا�?\Sھ��ا�
	�. 


ر�- 2?\Sه�اmQ��J	��ي�mا���L
�
�ھ��ا��4����Yام�ا��	�.�������������������

 --بالتوفیـــــــق--  
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01  ل التمرين رقم: ح

  ل التمرين رقم: ح

1H	:�>ا��	و	:�ا�*�	ا���د	C12
6	:	

A = 12:	ا���د	ا�*��:	

		Z = 6:	ا���د	ا��<�:	

H	ت�		6	=	Z=		-�د	ا���وت�ن
Hون��*�Mا	-�د		ت�	=Z	=	6		
H	ت� N = A – Z = 12 – 6 = 6		:ح�V		N=		-�د	ا����ون

H	ا���اة	ش<��	q:		
q = Z e

+
 = 6 . 1.6 . 10

-19
 = 9.6 . 10

-19
 C 

2H	وت�ن�ا��	���*�	�`-�vم	ا�0رة	��آ�	:		
	Xم	ت�*�ن	�		:	ن��ون	�*�ن	N	إ�*��ون	،	و	Z	ب�وت�ن	،		Zآ���	ا�0رة	م1�و��	�*���	م*�ن�ت��	و	آ�ن	أن�

m(X) = Z mP + ( A – Z ) mN + Z me

��ون�ت	وم�Q	��F_	�آ���	ا�M*��ون	م�
��	أم�م	آ���	ا���وت�ن�ت	و	ا��
m(X) = Z mP + ( A – Z ) mN

		:	وم�Q	�_�F	mP = mNآ���	ا���وت�ن	ت1�وي	ت�����	آ���	ا����ون	أي	
m(X) = Z mP + ( A – Z ) mP

m(X) = Z mP + A mP – Z mP = A mP

�-`�	�*���	ا���وت�ن	بـ	إذن	vم	ا�0رة	��آ�A	ة�م	.		

		

}

3H	ب�ن�ا�*	ذرة	��آ�	:		

	y��	�
m(C) = A mP  = 12 mP = 12 . 1.67 . 10		:م
-27

 = 2.004 . 10
-26

 kg 		
4H	:9	ج�دة�
		:	مX	ا�*�ب�ن	 g12	-�د	ذرات	ا�*�ب�ن	ا�

10 . 2.004←		ذرة	1		:ن��1
l	ا���-�ة	ا�>=%��	
-26

 kg

Y	ذرة		10 . 12←
-3

 kg

                                                           

.10 6.0 ≈

10  .  2.001

10  .  12
=y 23

26-

3-

		.	مX	ا�*�ب�ن	g 12	أي	و	ه�	ت�����	-�د	ذرات	ا�*�ب�ن	9:	

		
		

:  ومنه{

}

:		

12 . 10
-3

 kg
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